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In a LPP, for a maximisation problem, the entering variable is the non-basic variable
corresponding to the most value of (z el )

(A) Positive Smallest

(B)
(C) Largest \% Negative

CriGam @ s@wiys HLsHod, QuEpLLTEs sewrsdle), ol u@b wrmlurs o.arer

Slig LueLuwioer wrhlCur®, Gem e wg (z 4 —c j) cllgenLwi - wrhlwirs
QEED. '

(A) CrfenLwimen (B) ssfldlw

€ BstGufiu D) adfleLwen

An assignment problem is always a form of a transportation problem.
(A) Simplex M Degenerate

(C) Non-degenerate (D) Bounded

CuE@EUTSSS samadlen uigaULD HTeN REIGEL([HE STEHE.

(A) sefllueanps (B) Henzps

(C) HSevzeupp (D) eumbysELLILL

In a network diagram, the nodes are denoted by \

(A) Squares \K Circles

(C) Bold (D) Rectangles

@@ Qenemnu efarasliuL S50, sayEsdr Gappred GhlssiuBL.
(&) sgoo (B) el

(C) swsswLNsE (D) Geseueusd ‘
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4. If a lot is accepted or rejected on the basis of 2 samples combined, then it is known as

(A)  Single sampling plan

M Double sampling plan

(C)  Variable sampling plan

(D)  Sequential sampling plan

B spsd @oanps ulssHd, em Gelwua® goug Seeg Brmafliug  aaues
GTEsILIIT.

Q) posmp o b
B) Qo &pwepHiLn
(©) il sam aperp HiLib

(D)  aflevs apenn (W)

5. Assignment Algorithm is also known as

(A)  Simplex algorithm

\M Hungarian method

(C)  Optimization technique

(D) Generalisation technique

981660 samsfean Geiaumpraayid SiepliL.
(A)  sefluuenps Ligapean

B)  aphCafiwén wenp

(O 2swb sravaperpaer

D) Qungenw STRT(PERDEET
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6. Which of the following model does not take uncertainity into account?

(A) Stochastic model \M Deterministic model

(C)  Deseriptive model ' (D) Static model

&Gy Qar@astu_Berer wrdfl Lgeursafle, g fléswiflarenwen sawmadle or(S51s Qsmarermg)

(A)  aumniuweé wrdf Lgeub .(B) &monemorer wrflfl Ligeulb
(C) dAearsswnen wrdlfl Ligeub (D) ﬁmmuﬁ]u_lsb wrHfl Ligeud
7. Which of the following model gives the exact solution obtained by Mathematic model?
M Analytic model (B) Deterministic model
(C) Simulation model (D) Static model

£Cyp Qan@ssiu_Bearar wrffl Ly aukisafd g safls PN Lgabd apad Wlss sflwren Sreflene

SiaflE@Lb.
(A) uELY apen wrHfl ugeb (B) Smoranorer wrdlfll Ligaibd
(O QewpnCGumedl o (Heu LigeuLD (D) Heneulwe wrfll Ligeb

8. In double sampling plan, if d, +ds < ¢, implies
Accept the lot (B) Reject the lot

W Accept and replace » (D) Repeat inspection

A smmaperp AU LEHD, d) +dy < ¢ aTaTLE TS GHEGD
(A) @EAwue gHasssss) B) @Edwa Birmaflsssssss
(C)  ghHsss68 WHOID WIHH SiE@DSSD (D) Gsrgeanenu Smbus Qalige
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9. The median of a given frequency distribution is found graphically with the help of
(A) Histogram Pie diagram
(C) Frequency curve \V Ogive curve
Car@aéatiulHerer eneG@eaua Lireued Gen_flevven sersdl Lwenu@id QUENTLIL DTGNS
(A) QseueusiuLib (B) e LibuLd
(C) seCauamamare, . (D) gmsd cumaray
10. If the mean of five observations x, x+2, x+4, x + 6, x+8 is 11, then the mean of first three
observations is
W 9 ® 11
(€ 13 (D) 15
BBH 2 (HUUGEET X, x+2,x+4,x+6 wppd x+8 sl (& syraf 11 %G, LUy Cwalld s
tpenm 2 Ll satlen s HésTrafumemns.
A 9 B) 11
(€ 13 D) 15
11. Which of the following is not a random variable?
(A)  Price of a share
(B)  Rainfall in a year
' (C) Marks obtained in an examination
\V Number of states in India
&Gy QsrRsstiu’_Hararanaunii org) eumiili Londlenwsd smynsg.
(A)  unidlen Ay
B) oo umLsHan wanpuierey
(C) Gsrefled QupriL’ L wHuQuenser
(D)  @pdwrelé 2 drer wreul L kiseler sranaflsma
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12.  Which of the following is a three-dimensional diagram?

(A) circle (B) square

M sphere (D) bars

£Cip Qan@ésiiuBdrar LLhsafld gl priuflorest UL b? '
(A) elLbd . (B) szmmb

(C) Casmembd (D) ulen

13.  Which of the following is not a typé of bar chart?

W Ogive (B) Multiple
(C) Percentage (D) Subdivided

£Cy Qsn@éstiu_Hetareausafic) arg) LLeL efenssriLLSHenar sTTSma?
(A) qeseu (B) wengpsiuenL.

(C) sl e (D) spuuenL

14. For dealing with the qualitative data the best average 18

(A) mean (B) median

M mode (D) geometric mean

ueLsafian BreysEEE Bas Apbs syref wrQgefie
(A) sl (@& sqnaf (B) @ flave

(C) apas® (D) GQumssd syrafl
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15.  When the population is shown for each of the states in India, these data are classified as

\/ Geographical (B) Quantitative

(C) . Qualitative (D) Chronological

@pFwrellgidrer wmBleorisafiar W&E_CgTensemiL 6ThE euenEIITEN Qmmﬂuﬁlw@?

(A) yeuwe (B) eramrsyemey

(C) uearuarey (D) sre syamey

16.  The extreme values in a negatively skewed distribution are in the

W left tail B) right tail

(C) mddle (D) none of the above

erdlinoenn Cam' L1 LiyaieSlen seLAwirer Ui sdr o drar @)L
A) Qg e (B) awg eura

(©) pB e (D) CuCe sapriuLee ergia|lleveney

17.  For a grouped data, which of the following is rarely used?
(A)  quartile deviation ; ' (B) standard deviation

(C)  arithmetic mean M average deviation

Gpeurar yareflulwgiée EC Qsr@ésiiurGerar eranau euEuTpsTag LWETLRSSUILEADE)?

(A)  srowrer dlewésd (B) Al assnd
(C) &l ®&agraf (D) sprsf efevésn
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18.  The regression lines cut each other at the point of

M average of X and Y (B) average of X only

(C). average of Y only (D) none of these

@m OsmiyLCurée Can@sdr gampGurenm Qe sQsrenesd Letaflwreng
(A) X womd Y -ansymedl (B) X -enaprafl wl_Hib
(C) Y -anagnafl (@b (D) @eunde ergieyd @eene

19. Determine the Spearman’s rank correlation coefficient from the following details:

Y D* =30,N =10.

W =082 (B) 1, =032

(C) r, =040 (D) r,=-0.40

Gy Qsmpsstu_@arer efleurmsaiiel ;b i QwiCoaier g7 aflems @l Bnastseimen
s (191

Y D* =30,N =10.

(A) r,=0.82 ” B) r, =032
(C) 1, =040 D) r=-0.40
20. If each of the items in a series is multiplied by a common factor, the value of the standard

deviation is .
(A) unaffected (B) decreased
y increased (D) common factor

@ Qsm_iEdld gaRanm elursdoenyb g AuUTgs sryesiuflenmd QUEBSSEUILILLT, DB e
AL eflewss wduureag).

(A) undlssiung) (B) E@paurgaug
(C) =flswrEeusl D) Qung smeaflunGag
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21.

22,

23.

An alternative chart to pie-chart is

\M step bar diagram (B) rectangular chart
(C) sphere (D) cylinder

el L eflerdstiugdlpsren wrporer efarésts LL TGS
(A) ulew eflerd&siiuid (B) Qséueus auanyiiL_id

(C) Camerbd (D) e (memer

Graphs and charts facilitate

(A) comparisons of values (B) to know the trend
(C)  to know relationship \M‘ all the above

auenyULLD hHpb eflerssliu_kadr AplCiug
A)  wiuysmer gUIbdHeug (B) pawL Cunsgsemar Sifleug

(C) Qsriysanar Sifleug (D) Cuwla sapliLl L eréddembd

A bag contains 7 white, 6 red and 5 black balls. Two balls are drawn at random. Find the
probability that they will both be white.

21 22
J B3 B —

153

20 23
C — age
© 153 © 153

@@ e@ulld 7 Qeustanar, 6 Hauliy whmib 5 SmUIL LbgS6T o _draTe. Sieneusafldmipg 2 upsissmar
soamiuy gpapuiler Csiey Gelub Qurups, @ @rarEw Glmmmmu_ma; G muusnaren
Plapssme sy '

21 22

@ 153 T

20 23

© 1 | - O 7R
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94. If X is random variable with its mean X the expression E(X -X )2 represents

the variance of X (B) second central moment

\M both (A) and (B) . (D) third central moment

Xaaug @@ soamiiy il oger sal@ syref X -as @ouden” g Carame
E(X - f)z -enw @HlLd(Heus)

A X-anwmur® (B) 2-aug evow Sy Spen
(€)  (A) wimb (B) D) 3-ag ewudoliydper
25. For normal distribution :
(i) : mean # median # mode

(i) : The curve is bell shaped

(A) (i) is correct (ii) is not correct

y (i) is not correct (ii) is correct
(C) Both (i) and (ii) are correct

(D) Both (i) and (ii) are not correct

QuaHlena Lreueia

(1) : sgref @enflave pa®

(i1) : @& wefl augeurperLw auenaTay

(A) ()&l () seup

B) () geum (1) &

©) @), () @ren@id &
D) (), (i) GrawGo seun
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26.  Out of 20 employees in a company, five are graduates, three employees are selected at
random. The probability of all the three being graduates is

(A)  1/64 (B) 1/125

M 1/114 D) 1/115

@0 swtuafluigearar 20 ueflwranisafld 5 Cui urLgnflsar. oifle 3 ueflumiseer sweaumiiiiy
populiler Gsiey Gaiwyb Qurug, leuisdr SAdaaumd  ulLgrflsems  @@mUusnser

Blapssarang .
(A) 164 (B) 1125
(© 1114 D) 1115

27.  Three houses were available in a locality for allotment. Three persons applied for a house.
The probability that all the three persons applied for the same house is

@) 13 S V)

(C) 127 D) 1

o0 QoUdLsHe mam oSEsdr PH&E_PéaTs o dteten. apeanmy  BUsET @ SliynE
effletremr 195 g ranentr. b epenm) BUEEhD 2iCs i 1g.h@ eflamamdiugpaner Blapsaeunag,.

(A) 13 B) 1/9
©) 1/27 ) 1

28.  One of the two events is certain to happen. The chance of one event is one-fifth of the other.
The odds in favour of the other is

(A) 1:6 B) 6:1

© 5:1 G 1:5

Qg d em Haspss sCLmub Hapaispe em Hapsflufer aumisiiurens) wh@prender @il e
unEw eresled, wp@mrendlen snsasHnE aprarumn_araneu
(A) 156 (B) 6:1
© 5:1 D) 1:5
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929.  An urn contains 5 red, 4 white and 3 black balls the probability of three balls being drawn
in the order red, white and black when the balls are not replaced after each draw, is

equal to
M 1/22 (B) 5/144

(C) 60/144 (D) 7/144

S Geumeruded 5 Aauliy, 4 Geudrenar LHYID S HHUIL LHSISET 2 aTener. @euanerulelmbal eeuGeun(y
wepwb a®ss Lbms Gaumaniled Csisgeli@n Hlawuid, apeanm u,mgjas&m feuiy, Geudrenar,
s eranp aufiensudie er@UuspaTen Flspss6ES W)

(A) 1/22 (B) 5/144
(C) 60/144 (D) T/144

30.  Intossing three coins at a time, the probability of getting at most one head is
3/8 (B) 17/8

(A)
\V 1/2 ' D) 18

§Cr sowsHed 3 pramumsmar sETOD QuUTES SFSULELTS @B SOV el (peugpamer

HlspsseuTeng)
(A) 38 B) 78
€ 12 - D) 18

31.  If the density function of bivariates X and Y is given as f(x,y)=3xy, for 0<x<1, 0<y<1
the marginal distribution of X is

A  fxlx)=3x ] Jf,( (x)=2

(© f,\-(x)%x O fxlx)==

flx,y)=3xy,0<x<1, 0<y<l g Gmord X wpmio Y Wen Qaley smiuaen eraflé, X—en

eflafliby LFeue e
@ fxlx)=3x | ®) fxld)=5x
©  fyle)=2x ®  fx()=2x

= 13 SIST/18
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32,

33.

34.

Variance of X in a Bivariate distribution of X and Y interms of moments is represented
by

Lo : (B)  u,,
©  u, D) uy

X-ar @muordl ujadle wrgur® X wpmd  Yewu dessi0unsss Qsrassans
Qafluiiu@ssieus)

(A) g B)  uy,
(C) Hy, (D) :Um

Given that P(A)=1/3, P(B)=3/4 and P(Au B)= % Probability P(B/A) is

A 16 B) 4/9

W 12 D) 13

Gsn@ésiuce  P(A)=1/3, P(B)=3/4 wppid P(AuB)=% wafl®, P(B/A) én
Hlapgsaineng

@ 16 ®) 4/9

(€ 12 D) wv3

If an event B has occurred and it is known that P(B)=1, the conditional probability
P(A/B) is equal to

W P(A) (B) P(B)
(C) - Onme (D) Zero

B arénug flapihg oL Blaps Gogib sisen Asfips Hapssey P(B)=1 eaafléd, sigen Bubsenen
Bespssa) P(A/B)é&g sworeg '

A)  P(A) (B) P(B)
€) gdam D)  yRBub
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35.

36.

37.

_l_ ~x2/ . L =23 =
M 2nlzl.%e 2(::22 (D) 2n[—%e (xz)E

For small sample testing, the quality of 2 sayans can be tested by using test.

(A) F-test t-test

(C) Z-test (D) z*- test

Amsam Carsemenid Gran® sapsefien syrsfullen aflsHuinsmisamen Cengaenuen
EPEVLD HTERTEITLD.

(A) F-Csngeen (B) .t-Casngemen

(C) Z-Gsrzemen (D) x* - Gsngeen

Use Chi-square statistic to calculate the value of z* for a random sample of size 50 from a
population with ¢ =10 and S=15.

\/ 2= 1125 B) z*=22.22

© z=75 D) z*=0.03

@saissl uradan sy uarua@almer LwaURSS @saurssdear wHlbmear aumliLETaT
#QpHssden seray 50 whmib o =10, S=15-Qo @Qmpa =il

(A) =1125 B) ' =22.22

© =76 D) z*=0.03

The probability density function of the sum of squares of 'n' independent std normal variate
18
n-1

(A) #I—Eé =2 ) (B) 2,,/2|—2 (2 2

airssnsalean sl B AsrensyeLw sriupp 'n' Québae wrblller Blapsse Qe sriuemer
A

g n—1
() 2—3,;|—;e [2(2) | ®) 2"/2|_2 2 (2)3
(©) | ;WE e"‘g/z(xz)%_] ) 2% %e"‘z(xz)%-l
15 : SIST/18
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38.

39.

40.

The mean and SD of a Binomial distribution is 8 and 2. Then its parameters are

1 1
(A) (8. 5) . (B) (4, 5)

| 7 [16, %) ) (8, %)

FEHOIOY ureudler srrsfl whmb S clwssworag wanGu 8 wHmL 2 ED. sELW
LIGRTLIGTEnGULLITEZ)

1 1
@ (83) ® (+3

1 1
© (“i 5] (D) (8, 5]

Given a normal curve with mean = 25.3 and SD = 8.1. Find the area under the curve
between 20.6 and 29.1

(A) 0.0382 (B) 0.2810
0.3998 (D) 0.3192

Queaflew uradear amasCsn L sgar snafl 253 aeangib S cllosswrang 8.1 e
Qar@ssiu’Bareng. 20.6 wpmib 29.1-eé1 @er L L urtiuereflenen cuaneGan(® eparons s,

(A) 0.0382 (B) . 0.2810
(C) 0.3998 (D) 0.3192

The mean of a Binomial distribution is 5 and standard deviation is 2. Determine the
distribution

@ pl)=5C, (4] (%)H ®) p(x)=5C, (Kf (%)a-,
©  p) =2, () 04 &) = 25, (1) (1

FrmH@ILY upeuedlen symafl 5 wpmib S elwssid 2-2u6 @)mUG6ar Lraime sem® i

@  pE) =sC, () (4~ ®) p)=5C, (Y (@4
(C) p(x)=25C, (%)x (}g)zsq | (D) plx)=25C, (}g)‘ (%)25_Jr

SIST/18 16 b=



41 If X ~ z("’,,.,) and Y ~ zfg the distribution of the variate (X —-Y) is
A B (n% ’n%J ®) A, (n%’n%)
G 2on) | © 7+ )

X ~ ztq wdmd Y ~ 72 aafié (X -Y) eenp onfluflen upeuereans @D
@ A(""%) ® ("%."%) :
©  2(m-ny) D) z*(ny +ny)

42, If X,(i =1,2,...n) are ‘n’ independent normal variate with mean x4 and SD ‘o;’, then
. | 38
; (X'a_—‘”’-) s a variate. .
(A) Normal ' (B) t-distribution

M Chi-square (D) F-variate

X, aaug (i=12,..n) ‘7 sniupp @Queablewl uadear sgmafl g wpmb HLelassd

o; -eflenen Garerr_sn@wn. Guogib Z (u] eI o <, EL0.
g

A) Guablama (B) t-upeuedlen

(C) ms-auiss (D) F-upeueiles

43.  Let X ~ N(u, o) then the value of odd order moments are

@ 1 0

© [-8-5..@2r-1)0%] D) =

X aayb Quafom wiflla ghompliuaL aflestisa dasst Qumees Asramsuien i
GED.
@A 1 B) 0

© [1-3-5..2r-1)c"] D)

= 17 : SIST/18
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44.  If f(x) = Ce¥-6=+9)/32 yopresents normal distribution. Then the value of C and the values

of mean and variance are .

(A) C=%-, mean=2, g = 2
T

MC:%‘&”,mean=3,a=4

@ ©C=—t_ wean=4'g=2

6V2 1

(D) C=ﬁ.mean=2,o‘=4
V3

x)= C ol -ex+8)/32 Bueblenals ugeuene ariipg @HaE@n Aumag, C-er wHiy wHmID syl
. LOMMILITLL_GTENEUENL B4 GLD

(A) C=%,&'l}'ﬂ8lﬂ=2,a’=2
b 3

B C=

455 ,epnefl =3, o =4

n -

(©) C=;,amwrﬂ=4,a=2
62 1

(D) C=;,&mmﬂ=2,o'=4
1627

45.  For a Poisson variable X, P(X = 2) = 3P(X = 4). Then the variance of X is

W 1=2 B) 4=3/2

C Ai1=4 : D 1=42

umisren wrilég P(X = 2) = 3P (X = 4) @muQen, X egyib wrhullen mnmguni;l_mmwa)u aa)

A 1=2 B) A1=3/2
© i=4 D) 1=+2

SIST/18 18 &



46.

47.

100(1 - @)% confidence interval for ¢* in N (y,o-z) is . (When the sample is

small and x# is known)

2 2 2 2
(A) P{ "'28 <az<%}=1—a ‘/P{n: <oglc< ';s }:1"'(1
laIZ

Aal2 A-al2 A-ai2
ns> s _ ns> ns’ s _ns®
(C) P 3 S0 s— =l-a D)y P g <—i=1-a
X-al2 Xal2 : —al2 al

N (;1,0'2) Quafleow uraddlear wrpum_ghstar 100(1 -a)% pbdsms G Ceuafwrens

- (@m Aygrsay WHmL 4 -eflar wuy AsfbHmasb Ll ssH)

2 2 e 2 2

(A) P{”f <o? <= }=1—a (B) P{"f <o <8 }=1_a
Xal2 Xl-ail?2 Xal2 A-al2
2 2 _ 2 2

(©) P{ ',:s <o’ < n: }:1_0, D) P{LSazs’w_}=l_a
X-al? Xal2 -al2 al?2

"

If X,,X,,...,X, be a random sample from an infinite population, let S? = lz (X, = )_()2 X

nia

the unbiased estimator for o is

2 2
@ = @ 2
n-1 n
w0 Al \ﬂ( nnlsz
n -—

20 Wyt puaws Asregdie Qmps a@ssuulL sy X, X,,....X, e, Cogib

S§% = lz (X, - X)z erafléy, ommium_iger Appéfwpo wHS reg o
n

i=l

SZ SZ'
@ ® =
n-1 2 n 2
Tl K =
19 SIST/18
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48.  The sufficient estimator of @ in f(x,0)=(1+8)x?, 0 <x <1 based on the independent
sample of size n is

@ T=Yx ® T=) %

1=1 i=1

MT=ﬁxi D) T:f[%-

‘N oeey Qaran_ @ wIAM sprag Spssear. LiEH srile @Qmbs eTOSSILLLTED

f(x,8)=[1+0)x?, 0 < x <1, 0-cflen Gungioner genanio IS Tens) 2@GD.
@ T=X=x B T=)=

i=1 i=1 Tt
© T=]]=x ® T=J[%

49.  Inarandom sampling from N (u.c?), the MLE of o (when g is known) is
' n 2 =
@ =Y f_! 3( g Z (x; - ) u)

€ &%= Z (x; + p)° Z

i=1 =1

N(p. a’z) erann @uwafleoe uruddmbs sm0pOEELCUNE, wrmum ge wHUS Teg BUQum,

Bapsss wHISH apenulla (1 Qsfpshleanaude)

TREE | x_," T (xi‘l‘)2
A &°= ; - B) &*= g =

P - 9 R - (-t."ll)2
C) @ _g(x'+#) D) o —z—n—l

50.  Which one of the following distribution has the sample itself is a sufficient statistic?
(A) Binomial distribution (B) Poisson distribution
(C) Normal distribution y Cauchy distribution

Demeu(mb 6Thg LiFaueTens) ag@;a—m_u_l saflenanCG Cumgwrer wHOGL1s smHHHNS
(A)  FEHDUY uTd (B) uwmbsren Ligaued
(©) @uaflene LiTeud (D) srafl ureud
SIST/18 20 =




51.

The estimator T

following condition

gu/' Ey(T,)— 1(0), V,(T,) >0, as n >
B) E,T,)—y, V,(T,)>1,as n>0
(©)  E,(T,)-7(9), V,(T,)>1,as n >

M) EJT,)>y, V,(T,)>0,as n—>0

., 1s said to be a consistent estimator of y(#) if it satisfies any one of the

T, m y(0) e Qurmsswew wHndrs Geaeumbd gCsaib o fubsmasmers Qamar(

S| Plweombd

(A)  E,(T,)-y(8), V)(T,)>0,as n >
B  E,(T.)>y, V)(T,)->1,as n—>0
(©  EyT,)—->7(0), Vo(T,)>1,as n >

D) ENT,)—>y, Vo(T,)>0,as n—0

If X ~ P(0), then the unbiased estimator of exp{— (K +1)8} is

\/' T(X)=(-K)*, K>0

B) T(X)=(K)*, K>0
© T(X)=(-K)*, K<0

M T(X)=(K)*, K<0

X ~ P(9) araflé exp{—(K +1)8} en farGursi@ erdliumiiy wdHind L erencuwimeng

(A) T(X)=(-K)*, K>0
B) TX)=(KY*, K>0
© T(X)=(-K)*, K<0

M) T(X)=(K)* K<0

21
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53.

If X is a random variables then E[%J 1s used to find :

(A) Arithmetic mean

M Harmonic mean

(C) Geometric mean

(D) First central moment

X eenm sweumiiy wrblufed E(%) GTITLIG) LIWIGHTLIL &sa g \LISTEUS)

(A) s @H&syraf
(B) @enas synaf
(C) Qumée syraf

D) s @ww AniusHpe

54. The 99% confidence interval for @ in f(x; 6)=60e?* 0<x<w, is (for large
sample)
(A) %(f +Z,) B) %(2: Z,[\n)
1 1
©  =[1+1.96/n) ‘a!f —(x2:58/4n)
fapsse; 2_ish smnlen f(x; 0)=0e?*,0<x <o 0 oflen 99% pbsms G Qeauafunerg
(Qumrisadle)
@ iE:z) . ® 1l2+z,/n)
© =(196/vn) @) ~{1+258/vn)
x
SIST/18 22



55.

56.

If E(T,)=60=E(T,) and V(T})< V(T,) then
W T, is unbiased and efficient estimator

(B) T, is unbiased and efficient estimator

(C) T, is unbiased and sufficient estimator

(D) T, is unbiased and sufficient estimator

E(T,)=0=E(T,) wpmi> V(T,) < V(T,) aafié

B T, o0 Oppsfupp wppi> Apema nHiSLieb
B) . T, e AppsAwpp wHgd Hpemer wHSLTED
(€ T, o 9ppsdwupp wppb Curgiwrer AT TED

M) T, e 9ppsflupp wpmib Curgiorer AL rEL

The sufficient statistic for the parameter @ in f(x; 6)=6"(1- 0)*, x=0,1is

@ T-]]x I -3
=1

=l

_x% . =
(C) = . D T T

fapsse; o ish ermbenr  f(x; 0)=0"(1-6)"", x=0, luemuarerau 6 eflemr Gung|omen

WSS Teng)
Aa T= fI x; ' B) T= ix,-
i=l i=1
© T=2% O T=o—
n 2x;

23
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57.  The moment estimators for @ and g in Pearson’s Type III distribution is

J/& ]
14

m;* - m;
3 ﬂ = ' 12
my —my my —m,
9
1 n, - m.-
B) a=—"—, p=—"—
my —my m; —my
m?* m|
(C) d = 2 : v ? i 1 2 : '
my” —m my~ —my
2 2
nlrl a nll
(D) = ’ r ? ﬂ = ’
ms + my my +my

a wipgb B dparer Hmuusdmner apam m@ulﬁu_na@ Quirsaflen euens 111 arenp GQsr@dHule

LMHMILD G0,
o m* A m,
@) sl Tl
m;, —m; my —m,
B a- 'nL1 = "”-1 =
n, —m m; —my
; % . m;
© a=—gt—, f=—y?
"lg —my msy” —my
: 2 2
D) G- m - e my ,
my + my my + ny
58.  Variance is independent of change of
f Origin
(C)  Origin or Scale
LIFeumLIg. wrHoden sTTLHDS.
A =8
O f soeg e
SIST/18 24
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§cale

2 Eud jeTeyd

SieTay



59.

60.

Under a large sample, to test the difference of means if population variances are not equal

and not known then test statistic is

1% + o3 i.}. Sz

ny ngy ny n,

X — X X, — X
© == 1~ %2 D) z-= 1 — X

o Qumrsadler £ip, syrefl Caupgum_year Coargamanidd wpuews AstEduler LFaupDLIGSET FOLD

Smmsrae|b Gsfwmnd G muder Garsamen Lerafluliwe LarueTaeu @G LD.
__ 5% __ 5%
p = ey e A
% T2 B .5
(C) z= f1 . i‘l (D) z= fl il 52

For a two-tailed normal test if ————— H, is rejected at 5% level of significance.

A)  |2/<1.96" Jf 12| >1.96

(C) |Z]<2.58 D) |Z]>2.58

a0 @muaear Qudflaa Cergaeanuiear Curg B ma@wreanme, @Geanu aBHCaremar

5% Wemassenano oL S5l missUL{HID.
A)  |Z|<1.96 B) |2>1.96

©) |2|<2.58 D) |Z]>258

25 SIST/18
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61.

62.

63.

How many pairs of observations must be in a sample so that an observed correlation
coefficient value 0.42 shall have a calculated value of ‘¢’ greater than 2.72?

(A) 34 - B) 35

(© 36 97 37

am sflar @l Gpey Qs 0.42 wiuurs Gopa g T sarssE wHiy 2.72 L fswrs
B mhsne, Sissmdlear arameaflbms wng?

A) 34 (B) 35

(C) 36 (D) 37

For a statistician the consequences of wrongly rejecting ——————— is more severe than
those of wrongly accepting it.

(A)  Alternative hypothesis (B) Both hypothesis

(C) Either hypothesis m ull hypothesis

e LeTefluliuich eudeubmHEE Seupre wpliues L ismen gn@n Cung gou@L
eflenarayset HaLD,

(A) wrm a@EGaner (B) @ma@Candaser

(C) aCsabd e eTBCamer D) @enu a@GCaner |

Name the hypothesis in the following statement “New Process is better than standard
process”

M Alternative

(B) Either Alternative or Null
(C) Null
(D) Null and Alternative

Spasan_ aunssgdiener arHCaneflenen snmis.
“Ldlw e siones apespenu el Hppos
(A)

(B)  mhm (=) @emu

€) @ew

D)  @emu whHmbd wIHY
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64.

65.

66.

Type I error is known as

(A) False negative error

" (C) True negative error

Wpsweuams e
(4) Gumiwnren erdlflen Gemip
(C) QuuwmrererdlflenL Ganip

The statistic F'is

A) >0
© <0
sam) uaTLIeTeneu F openg;)
(A) >0
() <0

M False positive error

(D) True positive error

GTET DAMPEHELILI(HILD.
(B) Qumiwner Cpflan Genip
(D) GQuiwrer Crflen Genp

0/>1

D) <1
G-

B) >1

D) <1

To test the significant difference between sample mean and population ‘mean of a small

sample, the test statistic is

@y, z=Z28
o’
n-
(o ek
S2
n-1

Note : S and s are different measures.

@ Sl smen, sam syreféEn @o@megn@@ gynefléEb 2 arar Wasgarenwaw GCangaeamnulied

Cangenan) Larafluflwied LiamuaTenal

Qay " gl
Cad

n

_ X—H

©) t= =/
n—1

@fuy : S wHmib s CaupuL ey

240
B ==
S‘Z
n
@) =222
s
n

27
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67. Personal biases cannot be ruled out in designs.

(A) Completely randomized
(B) Factorial

Stratified

(©)
M Systematic

Qenps Ahé GEs g TS S ey,
A)  pueovwurs gCssmswunssUl L g
(B)  asmyexfisener sniips

©) upes

D)  euwhie wrdfiapean

68.  Error sum of squares in randomized block design as compared to completely randomized
design using same material is

(A) equal
M less
(C) more

(D)  not comparable

@Gy Qunplsafian Geparssisaian s@sd swamiliy @S Gsngemenr ienwlnd,
oppewwns gGssmawnsasiul L S soms efl

(A) s
B) @opay
(C) =fsid

D)  wryurE srar ApLTE)
SIST/18 28



69. How are V(x,) under random sampling, proportional allocation and Neyman allocation

related with each other?

M Vrun (fst) 2 Vprop(fst) 2 VNey(:x-sl)

(B)
(©)
(D)

‘/mn (fsl ) £ Vprop (Esl ) € VNe_v (Esl )
VNcy(fst) s mep (:fnt ) = an (f“ )

Vprop (Esl) s Vran (fsl) s VNey(Esl)

swamiiy &0p@ssd, 1ds @z680 whgpb Bevea gHssd wfuapdear S aluy V(X,)
gamétsranm Gar_mytiu®@ssu@ng?

(A)
(B)
(C)

D)

Vrun (f“) z Vprop(fsl) 2 VNey(Esl)
an(fnt) < Vprop(fal) = ‘,Na'y(fxt)
VNey(fn) s Vprop (fal) S an(fsl)

Vprop(fsl) s Vrun (Est) s VM.’_V(Esl)

70.  What is the expansion for NSSO?
M National Sample Survey Organisation

(B)
©
D)

National Survey Sample Organisation
National Sample Survey Office

National Survey Sample Office

NSSO crenugen el fleunésid eremen?

(A)
(B)
(©)
(D)

Caélw wrdfl er@eu@ iy spsid
Caélw erQai@ly wrdfl spsid
Caélw ordfl serdeuB iy SigieisDd

Caélw ar@eu@uy wrdfl sigeuasd

29
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71.

When population consists of units arranged in a sequence, what sampling method would you
prefer?

(A)  cluster sampling (B) simple random sampling

(C)  stratified random sampling M systematic random sampling

pwow Asrgduilar s@sar aflamswrs SIPEsULLROEETD, Thg MmEAPHHsD wamaw B
Caip@sHriumi?

(A)  Sner wrdf apep (B)  eeflu eumiiiy s Q@ ss®

€)  uvhesamiiy sQpEEs® D) @i aumii'iy & Qp@ésw

72.  The magnitude of the standard error of an estimate is an index of its
(A) accuracy ~ (B) efficiency
M precision (D) sufficiency
@ wHUS e AL 19enpuflen seray eremug) @)sen i@
(4) Hlimlub (B) #Hmen
(C) mlub (D) Cungorens
73. A sample of 16 items from an infinite population having standard deviation 4, yielded total
scores as 160. What is the standard error of sampling distribution of mean?
N7 B) 10
(C) 20 (D) 40
wpigefldens WpeowsbsrEHuldmbs e@sstuC L 16 aarsdr Qamem a &bt Ql'_n_aﬂs;)ésastb 4,
Glomgs whliurs 160g QsrRafng. sams Lyeud syrsfulen S (9enyp ereman?
A 1 (B) 10
€ 20 (D) 40
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74.

75.

In simple random sampling with replacement, the same sampling unit may be included in
the sample

(A) onlyone ' (B) only twice

(C) three times Mnore than once

=G5 @58 Ban@®bd QuI®HES saiqw srgmyer eumiily sCpHSsadle, @m sabld 4Cs sam S0EG
Cardg Cararag)

(A) 8O @ LLED (B) B y®p LD
(C) eperm apanm WL (LD D) emuponéE@b afsnns

In a Latin square design, what is the formula for standard error of any two treatments not
having missing value?

@A) S/K ®) 2S¥/K e

© +S2/K ,‘m’ V2S2 /K

wsHen 517 HLL sewi9d, @uLTs wHlieu Qarar. gCagb @ran® GCergeman Quinmseflen
S Genpsarean @GSSTD eremen?

(A) S!K ' (B) 2S8I/K

(©) ,/Sf IK (D) 1/283 /K

The interaction between two factors A and B each at two levels is the ————— of simple
effect of A at second and first level of B.
(A) Addition (B) Average

W Difference (D) Multiplication

gaQauneanmid Grem® Wi L kismer Qaram. @rean® smarflsar A wpmb Ben adliclemarey eanig
@ueir_mb ol LS5 o arer A e oPHMID WS UL SHlD 2 drer B én ereflw Sipensafien

DGLD.

(A) smliLe (B) egnsfl

(C) e&fsHwnsn (D) Qumssea
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71. The median of the observations 27, 36, 28, 18, 35, 26, 20, 35, 40, 26
(A) 27

(B) 28
(C) 285 .‘pf 27.5 ;

27, 36, 28, 18, 35, 26, 20, 35, 40, 26 o flw leurrusefler @ flane ojeray

(A 27 (B) 28
(C) 28.,5 ‘ D) 27.5
78. How many contrasts are there in all for two treatments?
(A)  One | 0/ Two
(C) Three (D) Four

Gran(h Cansenar QLMHL&EHES QUTESID THSME PTamsHaT &) HEHEn?
A) g B Gran®
(C) openm (D) mprene

79. If in a randomized block design having five treatments and four replications, a treatment is
added, what will be the increase in error degrees of freedom?

(B) 2

@ 1 ‘
1 3 ) 4

wibg Gergeven GQUmEHLsET WHMID FHrENEG LI (HEUTSES® 26Tar @ FLeUMUULS s HSH L
Gemgenen el g Gsrgeanen Gunmar GamdalulLmd Gy s gD Faf ereeeTey

2iflaMaEn?
A 1 (B) 2
<€ 3 ' D) 4
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80.  Which of the following is the correct arrangement of 8 treatment combinations of a

2% factorial experiment in standard order?

M ‘', a, b, ab, ¢, ac, be, abe (B) ‘1, a, b, ¢, ab, ac, be, abe

(C) a,b,ec ab, ac, be, abe, 1 (D) a, b, ab, ¢, ac, be, abe, 1

Hlevawnar auflans e drar 2° smyenfl Gangeenien 8 Csngaar Qunmer Caismasaflan sfwnen auflas

eneumeuameunmaT erg)?
(A) ‘1, a,b,ab,ec, ac, be, abe (B) ‘1, a,b,c, ab, ac, be, abe
(C) a,b, e, ab, ac, be, abe, 1 (D) a, b, ab, ¢, ac, be, abe, 1
81. If there is one standard Latin square, the total number of Latin squares of order 3x 3 is
(A) 6 B) 9

12 D) 15

@Cr @m srwrar s sxrsms aHSHsQaTaT_Td b 3% 3 auflans Qanam, asSen sgrsdlen
crawrenflEana eraucuara,?

A 6 : B) 9
(C) 12 D) 15

82. Valueof b in Y =a+bX remains same with the change of

M origin (B) scale

(C) both (A) and (B) (D) neither (A) nor (B)
Y =a+bX ergib swemuim’_igé) —————— e iy wrmidGung b e wdlliy wmrg QméEHd.
(A)  ewwindliy (B) =es
© (&) wigi> (B) Greindid D) (&) wppid (B) @ren®i> Gome
= 33 SIST/18
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83.

84.

85.

The coefficient of correlation

(A) Cannot be positive
(B) Cannot be negative

.‘V Can be both positive as well as negative
(D) Cannot be zero

PLOneys Aspeian wAuureng

(A) dHevswns @mésng

(B) @onwns @mésns

(C)  Hews wHDID GSDWTS B)HESQMD
D)  ugduons Gossrs

Link relatives for calculating seasonal indices are converted into

M chain relatives ' e (B) mean seasonals

(C) typical seasonals (D) specific seasonals

umeuste wryur@seien sansdBsafle @amamiiyd snimlss ———— & wrHpuuGEame.
(A) smdldlé srmlser (B) ayprafl LmeumiseT

(C) e wmeTomes LI(HeumISET D) AL umheukisaT

The seasonal indices for each month or quarter of different years are called

(A) chain relatives (B) link relatives

(C) typical seasonals Mpeciﬁc seasonals

vaCany pan@sclar g ooy srorer@d vBusGOUEHssT ———  cren
SianpésiiuHElenmean.

(A) smfleds srmd . (B) @oerriius srmd

(C) e wnranoren LmHeukigHET D) EMUI L umeaukiser
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86. A multiplicative model of a time series with components 7, S, C and I is

(A) T=Y/(SxCxI) MszSxCxl

(C) Y=T/SxCxI) M) Y/SxT)=C

@ sresbsmi auflmslan ugdadar T, S, C opmibd I aafléd oisen Gu@é;:scb wrdfl eremuig
A T=Y/SxCxI) B) Y=TxSxCxlI

(C) Y=T/(SxCxI) M) Y/(SxT)=C

87. The forecasts on the basis of a time series are
(A) Cent percent true (B) Fifty percent true

‘V True to a great extent (D) Never true

snajdsm_it cuflensulen ppawns adisralb sribs wpearanlellliy ssaudsdr

(A) mIm sgeisb 2 anaw (B) gpbus s5eisb 2 a@manio
(C) Qugmweray 2 areno (D) eruQurpsib o arenoulidena
88.  For fitting of Mathematical functions —————— is the best method.
\W Least squares method (B) Simple average method
(C) Semi average method (D) Link relative method
sansslwue srifemen QUIGSHIUEHE —— apoD HPHS WD B GLWD.
(A)  Befy euitds aperp (B) eraflw sy apenm
©C) uEd synef e - (D) @eean sniy apenm
35 SIST/18
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89. Deseasonalisation is specially needed for
(A) Trend (B) Seasonal variations

(C) Irregular variations y Cyclic variations
LiHeUETe LGUUIMLSED eremug) GHuuns aang @Ghléedpg

(A) Cunmag (B) umeusre wrmur@ser
(C) @umspp wImUTGEE (D) sppé wryunheer

90. Let (y,) be the given values and (y,) be the trend values. Then the trend eliminated values

on given by
A) - ¥+ @)
. D y} —_ ye

«/ Y~ Ye ) =
(3,) eremugy Qsm@sstL_L wilsamaad, (y,) aaug Gurss wHlusamsan GmeEwomnden,
@ipan Curé@ Basls wHiLser 24D
A) ¥+, Gy 2
©  y-2 @) e

91. A time series has components.

\j/ four (B) three
(C) two (D) five
sres Qs auflens — gamisener QEmeRTLg).
(Ad) preng (B) poperm
©) @ranl D) mba
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92. If the unit of measurement of a commodity changes, the value of index number
(A) Also changes . (B) Decreases
(C) Increases Memains 1he same

Qurm_saflar sierarausaiian Sw@saiid MDD gHuLTD, GHUE eramarfle b

BosED
(A)  wrHpbd B) @®nub
(C) =flswr@n (D) " wrhplldana
93.  In computation of consumer price index, aggregate expenditure method is nothing but
M Laspeyre's Index (B) Fisher's Index
(C) Paasche’s Index (D) Kelly Index
NS Qewey apep apaib sarsdLLED BsTCant eama GHUEE )
(A)  erauwi GHlui Gl er (B) Yagt @HuS Gl e
(C)  umevéen @Hlui Gl e (D) Qaded GHluL Gl e

94. For consumer price index, price quotations are collected from

(A)  Fair price shops (B) Government depots
y Retailers (D) Wholesale dealers
paiCaun oo @IS yHE ool  uLgLOsT eresmueuili 18l mHEI
Gesfasiu@BEng)
A)  Fumw dae saLse (B) epsmms guGur
(C) oo HLHEILITETITESET (D) Qurés eflphuenemuTeTiaer
= 37 SIST/18
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95.  Factor reversal test permits the interchange of

(A) Base period (B) Given period
V Price and quantity 4 (D) Weights
smyenfl wrHm Cairedld W LOTHD H@)E&E D
(A)  @glueL srew B) Qsr@&sLLLL ST
(C) dilene wHmID SyeTey (D) eren
96.  Incomputation of consumer price index, usually the weights used are

(A) quantities consumed by the families

M quantities consumed in the base year

(C) quantities of production

(D)  quantities consumed in the given year

pEiGeurit  cdlow GHUE saEdGb Gury isar aoLisE e
vweB 50U Eng

(A)  EObukser aflhdu Saresar

B)  eglueL am s oflwhdwu eresar

(C) e pusdulen saraysar

(D) Qar@ésiul L aumgder eflpidlu erayser

97.  Which of the following represents crude birth rate?

(A) g->< K (B) —‘ x K*
B! P!
t
% x K (D) All the above

Spsam_apflo ag Qeuuaiur Gpiy oSssms @Hlédng?

Pt L
(A) F x K (B) F x K2
14
(C) % 3 (D) Guhser SIENGFLD
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98.

99.

100.

The sampling registration system fails to record

M age and sex composition (B) birth rates
(C) death rates J (D) all the above
wrdfuude apearmwreng g ufla) Qalculoame

(A)  euwg wpmb urdand dw Gearereas (B)  Apii aisd

(C) @nuyeisb (D) CupsarL jmarsgid

The most important source of obtaining vital statistics data is from

Registration method (B) Hospital records

w Both (A) and (B) (D) Neither (A) nor (B)

Wiy @moy yerefl eflaupiisaan Qupieudle s apehiserns eilarmi@euer
(A) udley Qeuiyd apenm . (B) [HSSICULDEDET )0 TTRISET

(C) (A) wpmd (B) @rew(pio (D) (A) whmb (B) Qurmssid Gerenea

Concept of stable population is due to

(A) Anderson J.L. \{ A.J. Lotka
(C) J.B.Dow (D) William Farr

Hevawrear appens Qsr@duilen smsg meilmeans shseu
(A) J.L. syeritgen (B) A.J. Cariasm

(C) J.B.Qrar (D) efa@edlwib umr

39
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101. Queueing theory belongs to

(A)  Prescriptive model Descriptive model

(C) Predictive model M Slmulatlon model

ey aiflensd SHEIeud cTangs snhEE

(A) ufipgefésiul L wrdfl uigeun (B) efleréaswne wrffil Lgeub
(C) qpen samse, AL Ligand (D) QswpCGumell 2 meu rdfl Lgeubd
102. model is a representation of reality through the use of model or device.
(A) Static
(B) Analogue

\V Simulation

(D)  Prescriptive

aandlp rdfl ugeub, 2w sae@wulioa Caallu®ss am LIS
Uigaulb iebeng) Hmefliing @) mE@Ib.

(A)  Hevouliwe wrf Ligeub

(B) @eeanurer wrdfl Ligaud

(C) QawpCuned 2 (meu Ligeud

(D)  ufpgierssiulL wrgf LiigGuLD

103. The non-basic variable corresponding to the most negative value of (z =g J-) is called as the

(A) Leaving variable . \M Entering variable
(C) Slack variable (D) Surplus variable

(zj—cj) dilen oflsu’s afiflen LHLCUIG AsmiiyeLw siglum Wonns wrHllamer
TG D\EMPLILIIT.

(A)  QeuefiCumid wmr (B) 2 @b wr
(C)  meri om (D) B@EHs o
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104. Preventable variation is the variation caused by

(A) Chance causes ! , J Assignable causes
(C) Both (A) and (B) ~ (D) Neither (A) nor (B)

ormurRsefid, Ungarsslul L rmURRSET aTeaTug) (Hes &ITIJ 6T MBISETTE 6L (ThHELIENT.
(A)  sDQFwW SryeRTRISET (B) @EHLICssEs sryamRSaT

(©) (A wpmwp (B) (D) (A)-ayb @aoaa, (B)-wb @deme

105. A double sampling plan is complete, when the following are clearly specified

M N ny, Ng, Cy, Co (B) N!"’lvcl'cz

(C) N,ny, cs,n9 D)  ny.ng,¢,¢

Geraumeauemaupmer, ey Qgafleuren EGAUALLILLE QHBETD, BHEDPDD @;;L_Lb (P(LHELD

@umitd.
(A) N'nl'n2'cl'62 (B) N,nl,Cl.C2
(C) N’ Ny, Co, Ny (D) ny, Ny, Cp,Co

106. If the producers risk is 5%, then the acceptable quality level is

(A) 100 % (B) 0.05

95% (D) 0.50
N2

s husSwreri @Liun® 5 sseisd aaflmeEn CuIgl, THHEHE ST L LDTES)

556550 HGLO.
(A) 100 % (B) 0.05
C) 95% (D) 0.50
= 41 SIST/18
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107. The Assignment problem is a particular case of

(A) Sequencing problem (B) Linear programming problem
(C) Replacement problem \y Transportation problem

PEEE_ & samsE, @i GHOGLL cumsas FribsE).
A)  aflesgpan sarss (B) CpiGam’® sienwiiLs UL ssamas
(C)  wmi® sarés, (D) Cura@eaunsgs samés

108. For a linear programming problem, in simplex method, for a maximization problem if
atleast one (z e j)< 0, then the current basic feasible solution is

(A) Optimal \M Not optimal
(C) Bounded (D) Unbounded

CpiGam_(H siemwiys HiLsho, selluaws wapuld, QuEbLrEsd samrsso, gCasaib @m
Z;—C; )< 0 erafléd, siger By g LiueL @@shs Sieunans eraeummns B ma@En

(&) ospp Biay B) ospssdp Biey

C) qpgeunen Sirey D) qpyeiens Siay

109. In the simplex method, the solution obtained by (n—m) variables equal to zero and solving
for the remaining m variables is called a

\/ Basic solution (B) Optimum solution
(C) Feasible solution (D) Unbounded solution

sefluueanps wepula, (n—m) wrisar wob dolsst AQupp Sy ymelluibd erenmmed, Gen
Beaperer‘m’ wlaser apeb Hen_ssssaigw Siey Geiampns SIMPEEILIHLD.

(A)  eaglues Siey . (B) Qufigib 2 shg Siey
©C) @esns Sivey D) oydloarSiey
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110. In PERT calculations, the expected variance is given by

2 2
J ng[tl’—to) (B) 02=[8p+t0]

6

@ & =[———"’+‘°""‘ ]2 o o =(‘°“P ]2

6

@@ HL wHUSE wppd ufiFamen apensHpsH, erdiumiiy wimur{ Sermeal o’ aenug)

2 2
. t.—tL - t, +1
A 2 |2 0 2 =I| P 0
A o ( 5 ] B) o ="
- 2 2
t, +tg—t tg—t
C 2 _|Zp 0 “m 2 _ 0 p
C) o (——-——6 ] D o ( e
111. The longest duration in any project network is called
(A) Total float (B) Free float
(C) Critical region ' \M Critical path
e S Linesfl Geamugle, Heromrer B @D sresHlaman GTGHTLIIT.
Q) e @smiey (B) slLpp Gsmiey
(C) Siwonen UGH (D) &iwrer uTMS

112. InLPP, if none of the basic variables is zero, then the solution is said to be
(A) Degenerate basic solution
\W Non-degenerate basic solution
(C) Basic feasible solution
(D) Unbounded solution

CriGsm (@ S@wiys SLé sarsfd, Sigluel LIHsET S@aTHEHID LRAWILTE GOMoa
@96, sigen Siedlenen Geueun SIEPLILIIT.

(A) Aogps sigliueLs Sia)

B) Aagdonrsglum g Sia
©  swive. Qespsbie
D) yeloarSiey

= ¢« 43 SIST/18
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113.  The mean of the two regression coefficients is always
(A)  Equal to coefficient of correlation
(B)  Less than the coefficient of correlation

W Greater than the coefficient of correlation
(D)  None of the above

B@ Gam_iyt Gurég Glapetlan syma GruGun@ng
(A)  @lBnays syl FLOLDTENS)

(B)  9LBnais Asupeme oflL @G meuneng

C) gl ®neas Qa(panau el Siflsorens

(D) - Cule sapriuL erencuwLb @) dene

114. A regression line has a slope of 5. If the mean value of independent and dependent variables
are 1 and 10 respectively, then the value of intercept is

\v( 5 ®) 10
©)

15 ' D) 20

@@ sy CuréEs Cam _igen smieuneng) 5 @Wh. Sisaflan sriLmH WLHMID Friyentul wmdlufler
spnafl iy epennGu 1 whmib 10 2B Talled, sigafian G wliureas.

(A) 5 (B) 10
© 15 D) 20

115. A pie diagram is which dimension? ;
(A) one. \l two

(C) three (D) four

Ll Q&'lméasum.wnmg 6Tih& Liflmenrid

(A)  @bhem ufwremd (B) @ni e uforespd
(©) @iuforemb ' (D)  mreng ufbresio
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116.

117.

118.

Arithmetic mean is 20 and mode is 18. Find out median
&) 2121 \/19.23
(C) 20.06 (D) 21.50

gl (p& syrafuden iy 20 whmib wseye vy 18. Qe fleveuflen wéiiy sam@®idly.
(A) 21.21 - (B) 19.23
(C) 20.06 (D) 21.50

The coefficient of skewness of a series A is 0.15 and that of series B is 0.062. Which of the
two series is less skew?

(A) Series A
\M Series B
(C) No decision
(D) None of the above

Czr_ir A-sasren CarlLeateneusCaey 0.15 wopmb Ggmii B-&@ 0.062. Qeefgam® Csriseafld
crsa@ient_w Cam_t_ereney GenDeuanTEm@Ln?

(A) QsmrA

(B) GQgm_iB

©  opye Goaw

(D) CuwCe Gsr@&ssiul’L aga|b @damea

The relationship between mean deviation (MD) and standard deviation (SD) is
(A) 3MD=2SD G 5MD=4SD
(C) 6MD=5SD (D) MD=SD

gymafl elewasin (MD) wpmb UL desssdne (SD) @ Cuwren Ggmiureng,
(A) 3MD=2SD (B) 5MD=4SD
(C) 6MD=5SD (D) MD=SD

45 SIST/18
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119. The type of relationship between standard error of estimate (S,:) and coefficient of
determination (r2) is

(C) No relationship
(D)  None of the above

Camymuwren S 9anyp (Syx) wpmib Hi_L_oren QapeysEid (12) 2_erer Qg miy
(A) Gpflen

B) sawdp

©€) GQsmiupp

(D) Cule saplulL ageyddame

120. While solving a problem, we get an estimating Y =10-4x. Which of the following
indicates this situation? '

(A) There is an inverse relationship

(B) The slope of the line is negative

& Both (A) and (B)

(D) Y -intercept of the line is 4

e sansfn@ Siey argyoCurg Y =10-4X agyb CpiCan® fa s, =g Spsar el
arangsd @HLGOSDg?

(A) eadimoenp 2 mey 2 drarns

(B) CriGsm_ger smiay arliomp aaiLms

(€ (A wpmd (B)

D) CpiCam s ¥ -é1 Qauc @ 4 eremiens
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121. Harmonic mean gives more weightage to

J small values (B) large values

(C) positive values (D) negative values

@ans spnsflew QupUSHE B WHUILSERSE wadusgiend QsnHEEng?
(A) AP wdiyser (B) Quflw wdiyser

(C) GCpilenL wHiser (D) edioen wHuysar

122. If the grouped data has open end classes, one cannot calculate

(A) median (B) mode

M mean (D) quartiles

G yeral efleuriusefier Smps wpig-audD auELIysaild araupan samadlL (LS ?
A) @QaoLfaw® B) ws®

(C)  sgnafl (D) smowramd

123. Pie-chart represents the components of a factor by
(A) percentages ’ (B) angles

y sectors (D) circles

QL G&\méwuuuimaﬁd) smyaflsafien urshismer GHLEL LuBeg)
A) srhsei B) uremswraiseflé®
(C) gean@sailan/ugdsaid (D) e Lmsafle

= 47 SIST/18
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124, Find the probability of an even number while throwing an ordinary die (six faced)

' é (®B)

(©)

(D)

D= oI

1
4

@ sngmen (6 usshsarT) Ls®Leaw L@ Aurys, @rier umL aansdr QU(ThHEUS M &HTen

Hlspssmae semBidly.
1 1
(A) 5 (B) 3
1 1
(© i (D) 6

125.  Find the chance that if a card is drawn at random an ordinary pack, it is one.of the court
cards (kings, queens, jacks)

9 J/ 3
@) 13 13

4 5
(©) T (D) 13

20 fleoL swamity eapuio m &0 sl dmbg Caiey Qaiuyb Qumups <ips &6,
Qaeusafle (rrgréser, preflsar, BEEET) enmna @) HLILISHETeT eumliienL e (B191g..

2 3
(A) T (B) T

4 5
(C) s (D) 13

126. If X is a random variable which can take only non-negative values, then

A)  E(X?)=[BEX)F ®) E(X?)> [EX)P
W E(X?)< [EX)P D)  E(X?)= [EX)P
X aenp swaumisiin) wnfluneng, efinvenupp whissmer or(is Quings.
A  E(X?)= [BEX)] B) E(X*)= [EX)]
© Ex)s<EXF O E(x*)= [EX)
SIST/8 | 48



127. Consider a family of three children. Also assume that all possible distributions of children
have same probabilities. Let H be the event, “the family has children of both the sexes” and
A be the event, ‘there is at most one girl’. Then the events H and A are

Mutually exclusive (B) Complementary events

\M Independent events (D) - Exhaustive events

an GODLUSHD 3 GhmssdT o eTaTent, SIQUTEET D@@UMHESD  Fweumiiliy  pepudled
souRsdly o dasms @apss CemaEnd  Hooulld, H—crianp Hlapsfluneng b5
GO bUSHYETET BTN GPHOSSET, A- canp Papsfluraiy ofsulsd @m GueT
Gph@s wi_ G , aafld, fapsfladr H wopmid A syang).

(A) genenp e cllass Hapsdlsd B) Hroy Hepeflser

(€C) aniunm Hepsdlser D) qppewwrer Flapsslsct

128. For two events A, and A,, if p(4,)=2/3,p(A,)=38/8 and p(4, NA,)=1/4. Then A, and
A, are .

(A) mutually exclusive but not independent
(B) mutually exclusive and independent
M Independent but not mutually exclusive

(D) Not mutually exclusive and not independent

Quen® fapsfser A, wppbd, aale, sipa Pspsselp(A)=2/3,p(4,) =38 wipd
plA, N A,)=1/4. @ouugnéd Blspéslad A, wpmbd A, Gdeunn sapliuGEDS.

(A) gamp gan dlwsE Hapsélsd wHHId sTTLHD Blapeslser e
B) gampgan wse Hapsfsd Gogib gniupm Hlapsdser

©) eniupp Bepsfac semd gaop gay elwse Hspss sidw
(D) g gam HosE Q&@éé\ Side oo sriupp Fapss s

= 49 SIST/18
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129.

An urn contains 5 yellow, 4 black and 3 white balls. Three balls are drawn at random. The
probability that no black ball is selected is

(A)  1/66 14/55
(C) 29 (D) 7/8

B Gouamaruiles 5 ognser. 4 smUL wHHID 3 QeueTener LbgSET 2 draTen. 2fld ppenp UBgIS@eT FL0
aumiti apenpulle) Gairey Qeibiuyd Quinps), smiiy LBCS Cgraunaind @muughsarer Hapssanans

(A)  1/66 (B) 14/55
(€ 219 D) 7/8

130. Four cards are drawn from a pack of 52 cards. The probability that out of 4 cards being 2
red and 2 black is
U 3250833 (B) 46/833
(C) 234/574 (D) 225/574
52 &_ps@werar @ £ sl dmbg 4 £ Psmear &G0 Cumpsy, Simeu prendler Grean® &0
Aaunsad wHmb 2 £ Hsar &MmUUTEa|D GmuLgharer flapssareans)
(A) 325/833 (B) 46/833
(C) 234/574 (D) 225/574
131.  Three dice are rolled simultaneously. The probability of getting 12 spots is
@A) 18 " 25216
(C) 112 (D) 1/5
ey usLsamar @Gy CrrsHd o mi G Cumups), 12 Ldrafse Aumeisphsren Hapsseareans
(A) 1/8 (B) 25/216
(C) 1/12 (D) 1/5
SIST/18 50 =




132. If f(x,y)=3-x—-y for 0<sx,y<1, the marginal distribution of X is

@) flx)=3-x \/ fle)=2-x

xﬁ
2

(C) fx(-’f)= 5-

flx,y)=3-x-y, 0<x,y<]1 s QOUUST X —an eflafliby upeuTeng

A fxlx)=3-x (B) fx(x)=%—x

2

(C) fx(x)zs—% D) f,\-(x)=2—%

133. If E,, E,,...E, is a countable sequence of events such that E, o E; >...E, then -lim P(E,)

n—wo

becomes

V&
B) =
) 1

(D) Impossible value

Ey, E,,...E, syfuen cramemésaig s Qpmi Blapsdad, Cogid E, > E; o..E, aafl® lim P(E,)
n—rxo

gl
A 0
B) =
© 1

(D) perQupr iy

= 51 SIST/18
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134. If A, A, and A, are three independent events, the probability of their joint occurrence is

equal to
W7 Pa)P(A)P(4,) B) 1/P(A)P(4,)P(4,)
©  P(A)+P(4,)+ P(4,) @)  P(4,nA)+P(4, 0 A) 4 (4,0 4))

A, A, wpmib A, ereueneu smumHD Blapsfsemms Gmiusned wmeusaian Qaven flapssass

FLOLOTENG)
(A)  P(A)P(A,)P(A,) (B) 1/P(A)P(A,)P(A,)
(C)  P(A)+P(A,)+ P(A,) D)  P(A, nA)+P(A nA)+p(4, N A,)

135. The definition of statistical probability was originally given by

(A) De Moivre (B) Laplace
M Von-Mises (D) Pascal
yereflullwed flapsaay apsen apseld wmma SueTmIGSLILILL g
(A) g wmieu (De Moivre) (B) Ceuemsw (Laplace)

(C)  eauranr-ansav (Vi on—Mises) (D)  umrevae (Pascal)

136. Probability can take values

(A) -0 to w B) -=otol
(© -ltol P’ 0t

Plapsse ar(dsgi6 Qsranenb wliLser

(A) -otow : B) -=tol
(C) -1to1l D) 0to1l
SIST/18 52



137. A random sample of size 100 is taken from a large population with standard deviation 8.
The standard error of the population mean is

MO.B, (B) 0.2

(© 01 (D) 0.6

@m peows Qsredle Qmps aGEsLULL amiitiyé sapseflar siare) 100 s @mUlen
ss@oLu S deosawonag 8 HGD. SIBDG gyrsfl @prpews Aar@Huler H L Gempuiamen

SenTL D&,
(A) 038 ‘ (B) 0.2
(© 0.1 (D) 0.6

138. If the Quartile deviation of Normal distribution is 18, Find the mean deviation value

(A) 108 (B) 5.4

\V 21.6 D) 85

@wd Heve Lyeuelen ardwren elawssorang 18 & B 96n synefl clesssdaan oibs.
(A) 108 (B) 5.4
(C) 216 (D) 8.5

139. The sum of the mean and standard deviation of a Poisson distribution is 6. Then the
parameter of the distribution is

(A) A=2 (B) A=-3

MA=4 M A=+2

Lmiismer Lgeueen sgraf wHmb S L eNwssE@eID, Sl g @D QImHD wiy 6 eaeafld, igen

LIGRT LISTEn QUL TS 2GLD.
A) A=2 B) 21=-3
(C) A=4 M) i=+2
b= 53 SIST/18
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140.  If the continuous random variable X is uniformly distributed over the interval [15,20] then
1ts mean 1s
(A) 35 (B) 25
(C) 155 M 17.5
X aguo Eymen uLgeuedan wrflureng  wyw Qe Qaclbioas Garamn(. ‘[15, 20] erempy
Bouusmien, sisguen_w syraflurens
A) 35 (B) 25
(C) 15.5 (D) 175
\
141.  The standard normal distribution is mentioned by
(A)  N(0,0) ' B) N(1,1)
@ No ® N(1,0)
L Cpiranols ugeuellenen @HlLiLig D@LD.
(A  N(0,0) B) N(1,1)
(€ N(0,1) D) N(1,0)
142, The shape of the curve of F-distribution is depends upon the
(A) angle \K‘ degrees of freedom
(C) range (D) average
F-upeuedlen suanareueny GUlg.QULDITENTS;) &iihg B mEELD. |
(A) Casremrid : (B) slgeamewnulan sraramidms
(C) dsQeaame (D) sprafenw
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143.

144.

Hypergeometric distribution tends to binomial distribution when

(A) %—-)oop—)O

M
G Nool
—)ooN—>p

(C) p—>0N >
M p—>1N-o>—w

SHAUGESD LTaIQTETS) FHHIIL| LTS MDD, @ semans QasTarig.(HHSTD

(A) %awp—)O

(B) N—)co-%—-)p

(C) p-o>O0N-ow»
M) p—>1N->-—

The points of inflexion of the normal curve are x = u £ o and

A flx)=e'"?

Quaplae cuenareilen euameTe, LMD yereflwmeang x = 4+ o WLHOID

A flx)=e"?

B  fx)=—me®
o2
__ 1 ¥
(C) f(x)-aﬁ_e

S e
(D) f(x)-ﬁ’;e

55

24 G\D.
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145. If X and Y are independent random variable with parameter [6. %) and (4%) respectively

then the random variable (X + Y) follows

\M Binomial with parameter (10, %]

(B)  Poisson with parameter (10,1)
(C)  Normal with parameter (10,5)

(D)  Exponential with parameter (10, %J

X wpgd Y ayeng sriupp mammpiciy wmh DDDLD SN LISTUTEnaILITEE apanm Gl (6,5)

LOHDID (4,%) erafled (X +Y) eremp wniflwineng

(A) FIHDILIL LTI, DiSHET LIeRTLIGTEnE (10. %J

(B)  umisrér Lueud, Sipen Lamuerenay (10,1)

O Quaflee uraud, Sigen Liarueraneu (10, 5)

D) <GsEsGH urwd, siga uaTuaTmal (10, %)

146.  The confidence interval technique is due to

(A) R.A. Fisher (B) Crammer

V Neyman (D) Rao

Bllsms QenQeuef mi Ligdlanen Sl apsiLBSHwueur
(A) RA. Qegr (B)  &gmor
(€  Gpuwer D)  ymeu
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147. If T. is a consistent estimator of &, then e™ is a

n

(A) Unbiased estimator of e’
M Consistant estimator of e’
(C)  Sufficient estimator of e’

(D)  Efficient estimator of e’

T, aenug 0 -efen @55Curdp wHOSE aafled e™ remuig|
(A e’ -afmE Gppsflunp wHSE

B) e?-alar Qurmsseperw wHISE

(C) e -afar Cungoren wHISE

(D) e”-efﬂsi.t Hmenmen HIIG

148. Crammer-Rao inequality with regard to the variance of an estimator provides
(A) upper bound on the vari;mce
\V lower bound on the variance
(C) asymptotic variance of an estimator

(D) mean of an estimator

WrmUImLafane GUIHESIOL . SFTof-Fra swafled pL&E Spsa aams HHADS
(A) mrrgjum'_n_.mmsuuﬂm GLoey craveneaniL

(B) wryurLarmeaudar S eramaeil

(C) <gmEweD UL eTenaudle wHOSEG

(D) symefulen S

= 57 SIST/18
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149, If x,x,,..., x, follows U (0,4) then the sufficient estimator for @ is
(A) It's mean (B) It's variance
(C) It's 1* order statistic \V It's.n'h order statistic
Xy, Xg,..., %, eroemd U(0,0) eam ureume snipsg erafle @fd 6 -elayen_u Cunmgwmen
wHS_rengy 2 GLD.
(A) saew syrsf “(B)  eisg@ew wryun L aremea
€C) ssae@_w apso afloms Lare D) s w sl aflas dref
150. If (X, X,,X,) be a random sample from N(;z, 0'2), then which one of the following is an
unbiased estimator of y?
X, -X X, +X,) -
A 1 2) ( 1 2)
@ (5 ® (StXe
(X,, X5, X;) aramugy N(,u. 02) ey ppens AsTEAISmbs er@EsiuLL wrdfl sam erafle,
w4 -elilem A pEAwipm wH 1S reng AemeugpLicuaneubmierT 615 ?
X, -X ] X, +X
@ (53 ® (H
© X +X,-X,) D (X, +2X, + X,)
151. The efficiency (E) of N (;1 ag) over X and median is
@A) 2z ®B) 2z
© x G 2
N, crz) arenp QuidBlena Asr@ ude, symef whmin BeLflenew Swaupdlen Hmenmeng (E)
&) 27 (B) 2z
© Vz | @) 2/n
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152. The 95% C.I for o in N(u, o*), when y is unknown is

ns® 9 ns> ns” o . ns®
<0 S ——— (B) >—<0" <—;
Z(n-1)(025) X(n-1)(975) X025 X975

(C) Both (A) and (B) (D) Neither (A) nor (B)

N(/l, crz) @rifleetiuyaudd  wrUr_gHésTeT 95% pdsms G CQeuefliureang
(u QaMundméed Ll ssdle)

A) [—.—'LLSaZS—.'.‘sL—] (B) (nzsz <o’< nzsz]
X(n-1)(.025) Z(n—lx.975) 2025 - X975
©)  (A) wimibd (B) D) (A) wib @dae (B) wyb Gome

153. For an estimator to be consistent, the unbiasedness of the estimator is

(A) necessary .

y sufficient

(C) necessary and sufficient

(D) neither sufficient nor necessary

gm wHISE @s5Cudn sanewi o wQsalld, g Appeflupp samownens)
(A) Csameauwmeng

(B) Cumgoreg

(C) Cseauwrengb CuIILTEHID HED

(D) Csweawrangb @ome, Gugrangib Goma

154. The Crammer-Rao inequality is valid if the distribution is
(A) Discrete (B) Continuous

(C) Normal : Both discrete and continuous

Agmoi-greu soafldlwreng (FCs@Ib @O Hapssal) LTS E5EE QFaasssssms QHEGED
(A) Qgm_fElwphn Lree (B) Qgmisflwimen Lyeud
(C) @Que flevers Lgeud D) Qgm_iréEdwrer wHmid GHT_TUDD Ugeue
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155.

156.

If X~U(a,p), then the MLE's of & and S are

J @ =xq, and f=x, B) a@=x, and f=x,

(C) a=%and g=%° (D) a=Xx and ,észf

X ~Ula, f) aafiéd BuGumy srsHu pam WA 4D @ wHmb f - wdHOSEH

A)  a=x4 wpgd §=x,, B)  a=x,) wigb 4 =x,
(C) =X 1DHMID ,B D) a=Xx; wpmbd fi = Z.t,g
If (x;, x,....x, ) be the values of random sample from N(p ?), then s* =—Z(t -x) is

(A)  unbiased estimator of o
(B) sufficient statistic of o

(C)  consistant estimator of o

M all the above

(x,, xg,....t,,) GTErLIg;) N(p, a"") aram appeniog QesmgHulad @mba sTRESILCL M saQpefle,

~-x) eTeRTLIS;

A) o &@ IppeAwumn WIS reEo
B) o* & Cungioren wHISL @0
©) .¢° i@ gssGudp LHUISUrEb

D)  CupEdund L erdewmb
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157. The 100(1-a)% confidence interval for x in N(/J, 02) is (when the sample size 1s .small)

u eflan 100(1-a)% poidsms GaQaiafl Nlg, 02) erem @widBlenay LIFeue (@m
Hm &QpHLUY aperpulile) |

@ (X2, 9]

158. Bias of an estimator can be
(A) positive
(B) negative

M either positive or negative

(D) always zero

@ wHLNS e IppEs aremug

(A) Cpiroepuwireaig

®) afivepuna

(C) CriwepwraGaur (i) ardlmoanpursGeur
D ugfusBbE swore
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159.  In small sample, to test the difference of means, the test statistic is

X-y -y

Y, e L o
8 8

9, o 5,8

\th;y (Y. et

d
s/vn

" GO,
A) z= f‘y2 ®B) ==L
n, n, n, ng
© r=iild ® t=-2

160. A random sample of 27 pairs of observations from a normal population gives correlation

coefficient 0.42. Obtain the value of ¢

A) 2324 \/2.314

(C) 2.304 (D) 2.294

20 @uableaw wugeaw QareHOSmibs a@sa0UCL 27 Gamg. aumiiliy sap—a U Bmey AL

0.42 grafled t—en e srer
(A) 2.324 (B) 2.314

(C) 2.304 (D) 2.294
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In LR test, under certain conditions, —2log, 4 has an asymptotic ———— distribution.

(A) Binomial Chi-square

(C) Normal (D) Poisson

Blapssas ol&ls Gangeanied, —2log, 4 aurang LIFeuens @) (HEGLD.
(A) ooy (B) s aiiésd

©) Quatleaw (D) umienmen

162. Most powerful testing is applied for testing
(A) composite H, against composite H,
(B) composite H, against simple H,

(C) simple H, against composite H,

f simple H, against simple H, i

BlensgHpen Cangenamumens) Gergemen Qeliw LweUREDS!.

A) &L H, afitaal® H,
B) & @ H, adi sngmyest H,
(C) sngmyem H, afi s’ ® H,

(D) srgmenr H, erdli sngmyen H,

163. [ Lydx= : ' ,
w -
\U/.a ®B) 1-a
© B D) 1-p
[Lodx=
W
(A) a B) l1-a
C B : M 1-p
= | | 63 SISTAS
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164 test doesn't test any parameter.,

\l Chi-square B F
(C) t

(D) Z

s

Camgenan erbs e LisRTUGTENEL| D Gendlaang.

(A) eosaiss B) F
€ t D Zz

165. In goodness of fit, the value of statistic 1s always

(A) Negative (B) Negative or Positive
\V Positive (D) Unknown
Aurmss Hpliy Camgenemna, sa uesLeTenauudlen Ui eriCuimgb G0,
A adflen (B) eadflen (1) CoiflenL
(C) GCpfleni . (D) Qsflwng

. 166. If x=>1, is the critical region for testing H,:0=2 Vs H,:0=1, on the basis of single
observation from the population, ’

f(x,60) =0 exp(-x6), 0 <x <. Find power of the test
‘A 1 1 . '
W 2 ®
e

D) —

#6r @m siereilenar Qamei_ appewns Cgn@s
f(x,0) =0 exp(-x0), 0<x<w

Genflés, H,:0=2 Vs H, :0=1& &iey sm_ Gid Lued x=1 aaflld sigar Canseman Smenen

sansdl_a)b ’
| |
A = - (B) i
e e
-1
[ = @ =
e e-1
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168.

169.

In sampling, accept Ho when it is wrong is
(A) Typel error Type Il error
(C) Standard error (D) Mean error

s Q@ ssder Gung Ho aremug saupis @mésn Cung ghmés Csndreug aanig

(A) s s G (B) @uewrmb auens Genip

(C) Sl Qe (D) symafl Qenwp

For testing the significance of sample regression coefficient, we use test.
(A) Chisquare (B)' F

~M¢ D) Z

sam Qam_i it Cunée Ospellen Wmssgaan Gangles ———— Gemgenan LwenLB&g  Geumb.
(A) @saiss B) F
€ ¢t D) Z

If the samples are large, the standard error of the difference of the sample standard
deviations is given by

() ["—‘2+33—] v [;—2+"—3]
n,

m Ny 2n,
o &g o B
ENE Glulﬁu.ngna; BmHE!. san LreupLgsatler Caumur( semr S Genip 2GLD.
(A) [%‘j— - Z—‘E] (B) (% + 2%:22-}
@ (&) o [t
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170.

171.

Which of the following is not a merit of stratified sampling?

‘l/ Less time

(B) More representative
(C)  Greater accuracy

(D)  Greater geographical concentration

Yeneupeuanaupmier ergl, LHs éme@ggaSleh Hlenn @dene?
A)  @opps Cprd

B)  2fs SrPHHsgeud

©) oflsmiub

D)  <ifls yCans gmupeaiu@bsso

Student-t is categorised as
(A) an estimate

(B) an estimator

M a statistic

(D) aparameter

LomemTeut £ eranLig @)eucunmy aue@slLBSsLLGADS
@) SO AL

B)  @mwHiS @ et

©C)  omsmy uaTueTara

D)  gmuaruarama
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172. Three groups of data are assumed to have equal means. What test can be used?

M Analysis of variance

(B) Chi square test
(C) Correlation

(D) ttest

apeny Qenedsarer elluymsea @G &a® syrefleow QsramymuUsTS aBds CaTam o abhs

G&ngmanmuj uwenuBSsemn?
(A)  ormurt@ uGuumLey
(B) @saiss Cangamen

€ erGoay

(D) tGsngewen

173. The probable error is equal to

M 0.6745 times the standard error

(B)  0.7645 times the standard error
(C) standard error

(D) standard deviation

flapssa) Geps@ Fwonans)
(A)  0.6745 gpap S Geip
(B) 0.7645 apeom L enip
(C) S Genyp

(D) QL'_Laﬁlwé;&d;
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174.

What is the formula for the estimate of the variance of ¥ . under proportional allocation?

5

n & W2 s?

B) V(Ex,)=|1-— —
N ; n;

kW

(C) ‘/’(E“) - 1 - l J s]
. N =1 n

( n )\ W. s.

(D) V(fs )=|1=— Bt
' N); n,

allflg LniS g6 Sip X, e ommum e LA Geugnarer @GsHTd eremen?
k

- N-n
A) V()= = Y. Wi}

J

B) V()= 1-%)

_ kW

(C) ‘/r(f") - 1_%)2 Wj s/
&

@ ViE)= 1—%)2

175. If n units are selected in a sample from N population units, what is the sampling fraction?
(A) Ni/n (B) 1/n
© 1/N 7 niN
N smgsdar Qameam_ o CsteHldmbs n so@ss Qs &m THSEILLLTED Sapy
Slesand eTemen? .
(A) N/n (B) 1/n
(© 1/N A (D) n/N
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176. What is the main assumption of latin square design?
(A) - Treatment effect interact with row effect
(B) Treatment effect interact with column effect
(C) Treatment effect interact with both row and column effects

M Treatment effect do not interact with both row and column effects

wiSen sgrsHl L S@wliden (pEHLIDTET SIGIOTETD arenan?
(A) Gsngenen Gummeflen aS\a;)ma; afens eflenereyLen ardli eflanere| <HMILD
(B) Gangeen Qummaiean efleneray ClosdlBHS! &1 auflens eflenarayLeim erélit aflenemay pOMILD

(C) Gsmpean Gunmafien efleeray aflens HYID Cuodnps & afes damara QramBLgin
e eflenarey < pHMILD

(D) G&ﬁgmm Qunpeiian efeeray auflens PID CodlmHS! &p aflens cllenaray @Greir(HLgd
et eflanara) HOTE)

177. Point out the wrong statement in the following :
Statements :
(A) Randomization eliminates the human bias
(B) Randomization makes experimental errors independent
(C) Randomization enables to apply Mathematical theories

y Reduction in experimental error provides larger standard error for a treatment mean

Semeu(meuemaIDDIET FUDTaT H(HEDS &1_1q &M_LGYLD.

&(HSHIEET :

A) wvealsallan g smawre ey Geuglian sflgio aumiiiiL| apeopento &GS

(B)  sfsw amiiiiy apepento Gemgamar Deipsaar FnTUHNSTHEGEDS) .

(C) sflsw aumiiiiy aperpento sarflg GarlumBaemer LweTUBSs 2 sadlng

(D) Gsmsewen Gepasmer GopLiLg Gorgamen Quimper sgmafufen L LiGampa 2B afsdns)
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178.  What is the formula for estimating one missing value in a Latin square of order K ?

A (R+C+T"-G)(K-1)(K -2)

' [KEC+T)-26YEK-1)(K -2)

© K(R+C+T-20)(K*-1)

D) K(R+C+T -26")/(K-1F (K - 2)

K aiflos Qaain_ wpber spimsHod g AOLULL vimu s@T_flauspanar @s8nb crevar?
@A) (R+C'+T-G)(K-1)(K-2)

®) [K(R+C+T)-2GY(K-1)(K -2)

© K(R+C+T-26)(K?-1)

D)  K(R+C+T-26)(K-1F (K -2)

179.  Which of the followmg 18 not a contrast?

\/T+2T T ®) T,-T,

© T-2T,+7T, @) -T, +2T,-T,

WlenaumeuemeudmieT argy apram Gdena?

@ T +21,-T, ®) T,-7,
© T-2T,+7T, @) -T,+2T,-T,
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180. The bias of the person handling the data plays very important role in fitting a trend by
method. '

W Graphical

(B) Semi-average
(C) Moving average

(D) Least squares

wpepuie Cursflean GurmSELEUTS yarefl efeursens esWMEHLUGIT G

saalILL&018 (g Ceu[dés ifla eumiiLerang).
(A) euenpuIL

(B) und-sgraf

(C)  mamb synafl

(D) S&fpeuiss

181. Parabolic trend is a

(A)  (n—1)" degree polynomial

M nth degree polynomial

(C)  (n+1)™ degree polynomial

(D)  none of the above

LIJEUENETILILD GTETLIS)

(A) uogmiys Careeaudld (n—1) unensser
B) uopUysCarameaudd n uT@sseT

(C) uogpUysCaremeauded (n +1) urensser
(D) Cupsar_ ageb Qome
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182.

183.

184.

185.

The best method for finding out seasonal variation is

- (A)  simple average method M-atio to moving average method-
(C) ratio to trend method (D) link relative method
UmeusnTes @GOG srarusne Bss Anbs apen
(A)  aaflw smpef apenm (B)  efélgapm pamb smref apanm
(C)  Adsapm Curss apen : D) @eeriys snind wpenm
Periodic changes in a business time series are called
(A) Trend (B) Seasonal changes

W Cycles (D) None of these

eflwrumygdlen srag Qi auflensulies srab st IHDREET GTEOTLIG;
(A)  CGunsg (B) umeusre wrpUT@seT
©C) sppé (D) -@eea ggbloame
Seasonal variation means the variations occuring within
(A)  anumber of years ' Parts of a year
(C) Parts of a month (D) Parts of a week
UHeUaET mmunrBser aeng ———— &@ear gnu@Bdlem LOTMILITHISET 4 @&LD.
(A) Ao e B) ema®
(C) &wmuwrsd (D) @ eurmd
Least square method of fitting a trend is

(A) least exact most exact

(C)  full of subjectivity (D) mathematically unsound

Befimauirss wpenpufer Cursdlenam’s Aunmisiais)
(A) Gopbs godlupenL g (B) <=ifls g@adwugpeLwg
O ofs ssfovssaemn (D)  sewradlwed Camum_ppg
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186. Ratio to moving average method is considered to be the ————— for calculating
seasonal indices.

M Best method (B) Balanced method
(C) Approximate method (D) Absolute method
LiHeuSTe LTHIUNL g eher sanflés, pamd eldls syrafl pap Sren ——————— G0
(A)  SApps penp . (B) &wen Qe L qpenm
(C) Gamymuwmes 1penm (D) gaﬂg’sgi pem

187. The conclusions drawn from Time Series analysis are ———— true.
(A) exactly .M not absolutely
(C) absolutely (D) ultimately
st Asmi auflesulie Hal SEb (pigaisaT AMaED —— 2-@IaLo.
(A) modlwwrer (B) sallss svers
©) galigg D) Qpdwren

188. Each outcome of a random experiment is called
M Simple event
Compound event
_(C) Derived event

(D) Dependent event

swaumili Cergamenlen @aGeumm GeuafiLunBioneang.
(A)  aeflw Blapas) |
B) &L Hspsd

(C) a@ssuul_L Hapss

D) Puppeen Bopsd
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189. Ratio to trend method is one of the methods of measuring

(A)

Trend ‘

Cyclic variations

V Seasonal variations

(D)

Irregular variations

perGuné s apenn areng siareflL 2 seflng

(A)
(B)
(C)

(D)

BerCGunéa;
&Wpné wrmur@aser
LI(HeusTey mmum(H&er

R(RBISDHY WImLTH&ET

190.  Sampling method used in construction of cost of living index is

(A)

(B)

Judgement sampling

Simple random sampling

\M Stratified sampling

(D)

umpEms 57 GHuS Gl Sienwliude

(A)
(B)
(©)
(D)

SIST/18

Systematic sampling

GCurés wrdlfl samy erGUY apeop
craflw sam @Y apenm

uUBens samiapenm

e@mé il &piapep

74

gagapen LweTuBasUuREDE.



191. The consumer price index in 1990 increases by 80 percent as compared to the base 1980. A
person in 1980 getting Rs. 60,000 p.a. Should get in 1990 is

Q" Rs.1,08,000 p.a. (B) Rs. 72,000 p.a.
(C) Rs. 64,800 p.a. (D) Rs. 54,000 p.a.

SlgLiuenL .Q;,as'u;® 1980aw oL msiGaunt clema @Hlui@ 19906 80 eflipssn(® Siflsb. G BU
19806 @y. 60,000 p.a. erafléd 19906 yeui Qupid LiewTid 2@

(A) e 1,08,000 p.a. (B) @ 72,000 p.a.
(C) em. 64,800 p.a. (D) em. 54,000 p.a.

19 is termed as Economic barometer.

2
M Index Number (B) Time Series
(C) Demand Analysis (D) Vital Statistic

QunmermgmyL unporef arendlGpmd
(A) @ISO arser (B) anebsrt Qamir cuflens
(C) Caemeuanit LTmUSHED (D) QpuQpuy feugriser

193. Index Numbers are special type of

(A) Averages (B) Percentage relatives
(C) Ratios ‘VAH the above
@GOG eremaer : an gafleuans ,@Ld.

(A)  asgnafiser (B) snips Apssn®

(C) eNdlgmser (D) Cupsar @manss|b

194. If Laspeyre’s price index is 324 and Paasche’s price index is 144, then Fisher's Ideal Index is

(A) 180 P 216

€ 234 (D) 240

anduduir e GHSE 324 wppib urevse el GHUIE 144 aafld Gagfer aflpuiu GHuIG
BGL

(A) 180 (B) 216

(C) 234 (D) 240
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195.

196.

197.

If P, and P, are the population at an interval of 10 years, the population just after five
years will be
(A) E(P' +P,) M\/R x Py
(& 1
C — | —=—+— P +P,
a ghE ke
P wpgid P, erénuen 10 aum Qe Qeueflsafiar o drar waser Qgnena erampna, 5 %astrr@&@as@u
Upaner éser Qgrens
1 .
@ L (R+R) ® VAP,
) (1 | 1
C —|—=+—= D P, +P,
1 2(PI+P2) i "4y
Force of mortality is defined as
1 dl d
A — =— l I
A u L B) = (log L)
d o
Mﬂx = _d_x (log lx) (D) Hy = _dxg (log lx)
wrent Gausid eTenm auenumSSEUILRS DS
1dl d
A . —— .2 = —
A u e ®)  py =— (log L)
d
(€)  py=——(log 1) D)  uy =——(log 1)
dx
Crude birth rate is
(A) acrude measure (B) wunreliable
(C)  neither (A) nor (B) Moth (A) and (B) are true
Gervafl r iy eSsw eremug,
A)  gmQstiualr siereney (B) pwusssaamL SmDE)
(C) (A) wpmub (B) QumrmssDd o (D) (A) wpmib (B) @ren@ib 2 cmenwo
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198. Life table is a ‘Biometer’ of the population. This statement was given by-

W William Farr (B) Reed - Merrel
(C) Greville : (D) King -

DU SHITQ) L CUEDERT GTENLIZ| DESET Qarenaulen ‘2 ulliT SjeTeney’ erens safdliieui
(A) efeelwburr - (B) L -Qura
(C) &ACpeilaGe (D) Him

199. General fertility rate is a probability rate since the denominator consists of the entire
M female population
(B) population
(C) live births
(D)  all the above

Quig Apiiy eSpbsassl e LUGHED ap(gabwiTen BHuLsT® g Bspssey
aiglb eran sapULBEDS! :

(A) Quenseflen cranafiéamns
B) wasefien aramaiEms
(©) eulmen Gpps Gyhagsaen aranefiisms

(D) Cupsar_ e@eadg o

200. Vital index for ascertaining population growth is
(A) agood measure M a rough measure

(C) useless (D) a correct measure

Wiy @iy GHUSE eremug) wésdT tgras aueTiiEfleniuid senflliuSle
(A)  @mpo JjaTanel B) @ CamymuLLTET HeTEME

(C) uwwerdms (D) em sflwrear SiaTena
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